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TERXS - T - &R - 5 Hoo% TREAL B B ey =3t & W (BESM)
EHER
[HE B3]
= 1 77,412, 572
EHELT
=X 1 11,297, 791
HEHI T
= 1 101, 556
HEH +w
m3 360 282. 101, 556
PR+ T
= 1 7,442, 394
PR (FE48) B+ 2. b
m3 90 6,078 547, 020
B (L) B+ 2. 5mPL 4. OmATi
m3 420 819. 344, 064
B (BELR) B+ 4. 0mPL
m3 3, 300 231.2 762, 960
DS W CEBL- ERIRY L&Te)
= 1 4,875, 590
FEIA O=27) +w
= 1 912, 760
KR LT
=X 1 2,992, 564
BREE+ 2. 5mA i
m3 60 6, 177 370, 620
R T 2. 5mPL k4. OmA i
m3 30 860. 8 25, 824
B+ 4. 0mPA b
m3 1, 200 355. 6 426, 720
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TERXS - T - &R - 5 Hoo% TREAL B B ey =3t & B W (BESM)
TR ENR W CEB - EHIRY L E&T)
= 1 1, 833,120
FEIA (=27) +m
=X 1 336, 280
EEER T
= 1 761, 277
IR (B )
w2 1,770 430.1 761, 277
BEkEEY T
= 1 5, 399, 942
fE¥LT
=X 1 489, 572
PRAE Y +m
=X 1 38, 800
HEL
= 1 373, 320
HEEEIE
= 1 77, 452
g T
X 1 2, 484, 750
7" VoA NUBAE PUT-B300-L2000
m 49 10, 120 495, 880
7" VR ANURL A BF-I1-B300-L2000
m 278 6, 130 1, 704, 140
ik = CT-B300-L500
# 90 2,329 209, 610
aEx SG2T-300-995
e 4 18, 780 75,120
-2 - EHIzxma Akt R




N 2

(i

DHTIR R = S it By il 5

TEHERXSy « T - fRl - H15 Hoo% TREAL B B ey =3t & B W (BESM)
{1 T
[55 bviw]
= 1 1, 543, 200
& () BEMARNE MR ¢ 200 #EW A T-25
m 80 19, 290 1, 543, 200
KMk V-0 T
= 1 882, 420
BUGFT HEKM MBF&E (500X 500 X500) 18-8-40BB
W/C=60%
& T 10 47, 920 479, 200
BIGHT B &K MBF&E (500X 500X 600) 18-8-40BB
W/C=<60%
&R 1 52, 140 52, 140
#* MSGT-500-500
M 1 23, 280 23, 280
ES S-B600-L600-t9
¥ 10 32, 780 327, 800
B EARERE T
= 1 1, 536, 967
B -EAR T
= 1 932, 967
B ZILFE & 54 67L L=650
m 26 6, 306 163, 956
B ZILH%E &£ 100mm 2FL L=600
m 17 13, 530 230, 010
A FEP £ 30mm
(15%)
m 15 381 5,715
i EE FEP £ 30mm
(2%)
m 10 761.9 7,619
HiPEE FEP £ 40mm
(2%%)
m 105 807.9 84, 829
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H B FEP £& 50mm
(2%)
m 41 917.9 37,633
Mo ERE FEP £& 50mm
(35)
m 15 1,377 20, 655
R FEP & 50mm
(4%)
m 105 1,836 192, 780
i EE FEP & 65mm
(1%)
m 15 529 7,935
B FEP & 65mm
(2%)
m 105 1,058 111, 090
o B FEP £ 100mm
(2%)
m 15 1, 696 25, 440
AT R~ MR W=150 (2f&%)
m 161 281. 4 45, 305
NN VR E T
= 1 604, 000
T VRAMY Y F-VERE H2-9% (900X 900X 900) R2K-60
(560 4 151, 000 604, 000
EHEET
=X 1 28, 454, 474
TAT 7V M T
(Estasiz))|
X 1 6, 044, 500
BRI RC-40 £ LY E 350mm
m2 875 2,265 1,981, 875
Tl i (EiE - BREH) RC-40 £ kY & 200mm
m2 875 1, 255 1,098, 125
g (HiE - BEE) OKLET 277V ME G (20) B4
E2EE 50mm
m2 875 1, 688 1, 477, 000
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FE (HiE - BE) OFERLETA7 7 NE S ¥ (¥720FH)
RN EZEE 50mm
m2 875 1, 700 1, 487, 500
TAT 7 M2 T
[45m+]
=X 1 4, 004, 396
B i e RC-40 f£ kY E 350mm
m2 523 2,265 1, 184, 595
T R (FEaE - R RC-40 £ kY /E 300mm
m2 523 2,016 1, 054, 368
g (B - BREE) QKL ET 277V NE A (20) FEAE
#H2EE 50mm
m2 493 1,785 880, 005
FJE (i - BEFEE) OFRLET AT 7V ME A (FT20FH) FH
AN HZEE 50mm
m 493 1, 796 885, 428
TAT7VMEEEE T
[35 1]
=X 1 501, 564
g (HiE - R QMBI ET 277V NEA Y (20) FA£
#H%EE 50mm
m2 147 1, 599 235, 053
K8 (HE - BEE) ©@FERLET 2771 ME &4 (3720FH) &
BN R 40mm
m2 147 1,813 266, 511
EZUR S E
[45 brinv]
X 1 40, 800
T8 #Eag (BREE) RC-40 £ LY /E 100mm
m2 12 1,118 13,416
vy - Mg 18-8-40BB W/C=65% &H%E/E70m
m2 12 2,282 27, 384
/) - MEEE T
[55hvtnv]
= 1 183, 600
T B (BEE) RC-40 f+EVJE 100mm
m2 54 1,118 60, 372
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v - Mg 18-8-40BB W/C=65% &#3E/E70mn
m2 54 2,282 123, 228
VR
[45bran]
=X 1 1,293,510
BB (EE - BERED ki EFHEME M40 1D
£ 250mm
m2 104 2, 090 217, 360
av ) - Mg #H1F4. 5-2. 5-40BB W/C=45% &zt
E 250mm
m2 104 9,135 950, 040
e B Hh HEE Ho
m 16 2,160 34, 560
e E Hh {81 B Hh
m 32 562. 1 17, 987
B Hh IS A%E B
m 21 3,503 73, 563
/) - M T
[455+]
= 1 13, 038, 662
B RC-40 £ LY /E 250mm
m2 1,020 1,767 1, 802, 340
T g (FEaE - BEHD RC-40 £ LY /E 150mm
m2 1, 020 1,006 1, 026, 120
a0 ) - M Hfi 4. 5-2. 5-40BB W/C=45% &%
E 250mm
m2 1,020 9,378 9, 565, 560
HEE Hh it B Ha
m 146 2,160 315, 360
B Hh I[N B
m 94 3,503 329, 282
) - MaEE T
[55 bvin]
= 1 3,179, 510
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LB (FEE - BEE) I EFEME M40 it EY
= 255mm
m2 264 2,121 559, 944
v ) - Mg #1174, 5-2. 5-40BB W/C=45% &z
[ 250mm
w2 264 9, 080 2,397,120
e E HEE Ha
m 40 2,160 86, 400
e B A1 E
m 80 562. 1 44, 968
HEE A B
m 26 3,503 91,078
oFIEHEET
=X 1 167, 932
[zl RC-40 1+ LAYV JE t=120mm
m2 196 856. 8 167, 932
&AL
= 1 853, 588
AT
[45}/an]
= 1 112, 708
REER R ny) 180/205 X 250 X 2000
m 19 5, 932 112, 708
&AL
[55bran]
X 1 521, 840
SREER T 0y 180/210 X 300 X 2000
m 80 6,523 521, 840
AT
= 1 219, 040
TA=7" Ok ET 2771V NE & (5F)
m 160 1, 369 219, 040
-7 - EHIzxma Akt R
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B ARER B T
= 1 19, 639, 700
B HRER B T
=X 1 18, 608, 000
7" VA Mg EAR 500 1000 X 8000
B 16 1, 163, 000 18, 608, 000
KRR
[351E2]
= 1 1,031, 700
FETERR T4, 5-2. 5-40BB W/C=45% 1
#2EE 415mm
m2 78 11, 840 923, 520
fHEE Hy fHEE Hh
m 11 2,160 23, 760
B Hh IS A%E B
(av7) - MEHEEM)
m 15 2, 888 43,320
FEE Hh I B H#o
(B EMR AR
m 15 2, 740 41, 100
& T
= 1 10, 230, 110
B AL #EMm T
= 1 2, 170, 800
& 22 ARG 78 BfE H=850mm
[ il e FA i 5 5
m 18 120, 600 2,170, 800
BRI, A T
= 1 7,281, 730
b= v Gr-A5-2E (¥ =177 7mv)
m 79 24, 820 1, 960, 780
W= =7 Gc—C5-3E
m 285 14, 150 4, 032, 750
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=8 -7 ViR A Ge—C5-3EH
P 6 214,700 1, 288, 200
BHIEWT
=X 1 7717, 580
H R FeR (L) L=2. Om
#* 17 45, 740 777, 580
BEETHEE
= 1 77,412,572
B R
= 1 8, 844, 100
HIBIRE
=X 1 871, 100
BT E R
=X 1 66, 100
JH B ER A IRVE A
= 1 58, 800
AN AR R
= 1 7, 300
REREGWEE (FiL)
X 1 805, 000
HBRERE (FiH L)
= 1 7,973, 000
WTERE
= 1 86, 256, 672
B EEE
= 1 27, 151, 000
TR
= 1 174,137, 112
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TERXS - T - &R - 5 # i3 TREAL B B ey =3t & T W (BESM)
—EEES
= 1 26, 862, 888
R iy S
=X 1 201, 000, 000
THE B Y 4E
=X 1 20, 100, 000
THEEE
= 1 221, 100, 000
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TERXS - T - &R - 5 # i3 TREAL B B ey =3t & T W (BESM)
EHER
[HEBF32]
= 1 40, 873, 440
EHELT
=X 1 40, 873, 440
FHnET
=X 1 40, 873, 440
i e+ Ao
= 1 2,578, 560
T H S TR CEHL - ERRY £ET)
= 1 33, 394, 800
FEIA O=27) T/
= 1 4, 900, 080
EETHER
= 1 40, 873, 440
Him R
= 1 4,957, 000
B E
=X 1 482, 000
REREGWEE (FiL)
= 1 482, 000
HBRERE (FiH L)
= 1 4, 475, 000
T EE
= 1 45, 830, 440
BISEHE
=X 1 14, 899, 000
TR
= 1 60, 729, 440
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